

# UNIVERSITY OF THE PHILIPPINES

## **BAGUIO**

Governor Pack Road, Baguio City, Benguet, CAR VAT Reg. TIN: 000-864-006-00007

## REQUEST FOR QUOTATION

UPB Museo Kordilyera

Date MAR. 24 2022

2464 - PR# RFQ No.:

Small Value Procurement MOP:

Please quote your lowest price on the item/s listed below, subject to the General Conditions below, stating the shortest time of delivery and submit your Quotation duly signed by your representative not later than (APR. 01 2022) in the return envelope attached herewith.

### Note:

- All entries must be typewritten or in print.
- Delivery for a minimum period of 30 calendar days. 2.
- Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for equipment, from the date of acceptance by the procuring entity.

  Price validity shall be for a period of 90 calendar days. 3.
- PhilGEPS Registration Certificate shall be attached upon submission of the quotation (if applicable). 5.
- Bidders shall submit original brochures showing certifications of the product being offered. 6.
- Bidders must indicate the BRAND and MODEL NUMBER offered when appropriate.

### Others:



# UNIVERSITY OF THE PHILIPPINES

BAGUIO
Governor Pack Road, Baguio City, Benguet, CAR
VAT Reg. TIN: 000-864-006-00007

## Supply and Delivery of Office Supplies

| ITEM<br>NO. | GENERAL DESCRIPTION   | иом | оту | specific | chnical<br>cations<br>check) | UNIT PRICE   | TOTAL PRICE   | QUOTED UNIT<br>PRICE | TOTAL<br>QUOTED PRICE |
|-------------|---|-----|-----|----------|------------------------------|--------------|---------------|----------------------|-----------------------|
| 1           | Black pencil, yellow outer cover with eraser #2 12 pcs/ pack  | pck | 18  |          |                              | PHP 100.00   | PHP 1,800.00  |                      |                       |
| 17          | Foam Shock Absorbing Interlocking<br>Protective Portable Home Gym<br>Thickened Anti-Slip Exercise Tiles<br>Floor Mat 1M X 1M x 30.01 mm | рс  | 4   |          |                              | рнр 2,500.00 | PHP 10,000.00 |                      |                       |
| 2           | Industrial precision tweezers<br>About 9cm in length  | рс  | 210 |          |                              | РНР 90.00    | PHP 18,900.00 |                      |                       |
| 3           | Magnifying Glass<br>5x magnification, 80mm diameter   | рс  | 210 |          |                              | PHP 100.00   | PHP 21,000.00 |                      |                       |
| 18          | Metal storage trolley, rolling utility<br>trolley cart organizer, 4 tier, color grey  | рс  | 2   |          |                              | РНР 2,800.00 | PHP 5,600.00  |                      |                       |
| 4           | Metallic retractable tape measure<br>at least 5 meters  | pr  | 210 |          |                              | PHP 250.00   | PHP 52,500.00 |                      |                       |
| 5           | Plastic Caliper<br>150mm length   | рс  | 210 |          |                              | РНР 200.00   | PHP 42,000.00 |                      |                       |
| 6           | Powder-free<br>Blue Nitrile Gloves<br>100pcs/box  | pck | 5   |          |                              | рнр 1,300.00 | РНР 6,500.00  |                      |                       |
| 7           | Pure white, cotton gloves<br>210 pairs  | pr  | 210 |          |                              | РНР 55.00    | PHP 11,550.00 |                      |                       |
| 8           | Soft Painting Brush,<br>Wooden Handle<br>#1   | pc  | 250 |          |                              | РНР 20.00    | PHP 5,000.00  |                      |                       |
| 9           | Soft Painting Brush,<br>Wooden Handle<br>#12  | рс  | 250 |          |                              | PHP 65.00    | PHP 16,250.00 |                      |                       |
| 10          | Soft Painting Brush,<br>Wooden Handle<br>#4   | рс  | 250 |          |                              | PHP 30.00    | РНР 7,500.00  |                      |                       |



# UNIVERSITY OF THE PHILIPPINES

## BAGUIO

Governor Pack Road, Baguio City, Benguet, CAR VAT Reg. TIN: 000-864-006-00007

|   |                     |                                     |     |          |              |                |  | T |
|---|---------------------|-------------------------------------|-----|----------|--------------|----------------|--|---|
| 11  |                     | nting Brush,<br>Handle              | pc  | 250      | РНР 55.00    | РНР 13,750.00  |  |   |
| 12  | Tailors<br>150 cm,  | ape<br>white or yellow              | рс  | 210      | РНР 30.00    | 90.006,8 чнч   |  |   |
| 13  | White, s            | oft eraser                          | рс  | 200      | PHP 15.00    | PHP 3,000.00   |  |   |
| 14  |                     | ransparent Bubble wrap<br>ters/roll | rol | 5        | PHP 1,500.00 | PHP 7,500.00   |  |   |
| 15  | Wide di<br>Soft bru | usting brush,<br>ish                | рс  | 250      | РНР 160.00   | PHP 40,000.00  |  |   |
| 16  | Woode<br>12 inch    |                                     | рс  | 210      | PHP 15.00    | PHP 3,150.00   |  |   |
|   |                     |                                     |     | <u> </u> | TOTAL        | PHP 272,300.00 |  |   |
| TOTAL QUOTED AMOUNT IN WORDS: Two Hundred Seventy-Two Thousand Three Hundred pesos and Zero |                     |                                     |     |          |              |                |  |   |
| cents   |                     |                                     |     |          |              |                |  |   |

Please quote at your government price (Including VAT) and state the time within which you can make delivery. It will be appreciated if we can have your quotation in the office as soon as possible on or before the deadline stated herein.

RODOL

After having carefully read and accepted your General Conditions, I/We quote you on the items at prices noted above.

Name of the Company:

Address:

Fax No.:

Email Address:

Position:

Signature:

Date:

## MK CHED KIT Supplies

|  | Soft brush<br>#12, #8, #4, #1 |
|--|-------------------------------|
|  | Dusting brush                 |
| intointa interpretation of the second | Calipher                      |
|  | Magnifying Glass              |

| SS STATE OF THE PARTY OF THE PA | Carpenters Tape |
|--|-----------------|
| 1 INCH 2   | Tailors Tape    |
| o. S. S. A. A. A. S. P. S. P. S. P. L. V. O. S. S. P. S.   | Wooden Ruler    |
|  | Nitrile gloves  |

|  | Tweezers          |
|--|-------------------|
| Control Contro | Eraser            |
| JetPetts   | Mongol<br>Pencils |
|  | Bubble Wrap       |